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5x% + Ax+24 = (Vox+ B)> 4 W, A, B 9] gt Fotofet. (2 A
+ Agolth)
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> HMEFD A=4+30, > HE: B= 26
> HE D A= 430, > HE: B= -2V6

(V5x + B)? = 5x% + 2B5x + B?
=5x% + Ax+ 24

B2 =24, B=+26
A =2B+\5 = +4+30




4.

a>0 Lo, o= Aol 4] g2 e 25 =@tk

@ -Vi21la? - /(~Ta)? = —4a

O V2542 + /(-6a)? = -a

© a7 x 2 30a

@ 9Va®+ \/(-6a)? - Va? = 14a
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@ -V121a® - \/(~7a)? = -1la - Ta = -18a
© Vv25a% + /(-6a)? = 5a + 6a = 1la

V2542 5
©- /(~4a)” x —5— = ~dax % = 20
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6. oA (6 -3x +2)(x* + 5x+ 6) - 60 & st

O (x+4)(x=-3)(x*+x+5) @ (x=4)(x+3)(x*—x+4)
® (x+6)(x—2)(x*+x+5) @(x+4)(x—3)(x2+x+4)

® (x-4)(x+3)(x*+x+4)

B

(x% = 3x+2)(x% + 5x + 6) — 60

= (x—1)(x - 2)(x + 2)(x + 3) — 60
=(x-1)(x+2)x(x=2)(x+3)-60
=(x?+x-2)(x2+x-6) - 60
P+x=A2 EO°W
(A-6)(A-2)-60=A2-8A-48
=(A-12)(A+4)

= (x> +x—12)(x®> + x + 4)
=(x+4)(x-3)(x2+x+4)




